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Government Arts and Sclence College for Wumer"l, Bargur
Department of Economics
International Economics
Time: TwoHours || 3. A Ece Max.Marks:50
Section-f [10*1=10)
Answer All the Questions
1. Imternal Trade means
a] Domestic Trade b) External Trade «¢) Foreign Trade @NGHE of the above
2. International Trade means
a) Foreign Trade @ntemalﬁade ¢) All the above
3. Father of Capitalism
(@ AdamSmith  b) David Ricardo ] Malthus -d) All the above
4, David Ricardo Theory is also called as
a) Absolute advantage Theary b) Comparative cost Theory @H'ﬂfks‘ihﬂ"' ohlin Theory

5. The guotas represents
a) Physical quantitative restriction of trade  b) Physical qualities restrictions @Enth a&b

6. Import Quotas may also used to )
a) Protect Foreign Industry @Dnmestic Industry ¢} Domestic as well as Foreign Industry
d} Mone of these

7. Mixing Quoles are alsa referred to as
a) DirectQuota b) Indirect Quota @ﬂth a&b d)alofthese

B. Protective effect means
a] Togive protection to domastic Industries

b} To give protection to Fareign Industries
@ Bothaandb

d) All the above
9. Redistribution Effect means

a} The transfer of income from consumer tc producers

b} The transfer of income from producer to consumers

HNone of these .
10. Which one is not a type of quota :
@ Bilateral Quota b Mixing Quota ¢} Unilateral Quota d) Dumping
Section- B (2*5=10)
Answer any two guestions
11, Explain Internal Trade.
12. Write down the absolute advantages Theory
13. Explain Modern Theory of International Trade
Section-C (3*10=30})
Answer Any Three Questions

14. Difference between Internal Trade and External Trade,
15. Explain the tariffs and types of tariffs
16. Importance of comparative cost advantages the ary.
17. Explain the types of quota



Government Arts and Selence College for Women, Bargur
Department of Economics
pukblic Finance-il .
Time: Two Hours :jj_, 2 AECo Max.Marks:
section-A (10%1=10)
Answer All the Questions

1. Balanced Budget means .
a) Revenue=Expenditure b) Revenue Greater than Expenditure

¢) Revenue is lesser than Expenditure d} None of the above

2. Budget means .
a} Annual Financial Statement b) Annual plan ¢ Expenditure  d) Mone of the above
3. The word ‘Budget’ or "Bougett” means
a) Asmallleather bag b) Avery big Leather bag ¢} A Document d) Mone of the above
4, Characteristics of a sound budget
al Flexibility and Integrity b Fixed and Integrity ¢} Botha and b d) None of these
5. Inthe Boom period Government implement
a] Surplus Budget b) Deficit Budget ¢} Balanced Budget d} all of thesa
G, Budget deficit means O _—

d] Aggregate of the deficit on both the revenue and capital accounts
deficit only ¢ Capital accounts deficit anly d} Mone pf these

7. Techniques of deficit financing .
a) The government issue new currency b Taxation ¢} Increase Government Expenditure

d} Rising prices
g. 7ero based budget first introduction in
al] America b)England c) India  d} France
9. Which one s not a Instruments of Fiscal Policy
a) Budget b)Taxation c) Publicdebt d) Debt Trap

10, Which one is not a Evils of Deficit financing
a) Riseinprices b} Increase in money supply  c) Less Investment

d} Helpful to development countries
Section- B [2¥5=10)

Answer any two guestions
11. Explain the performance budgeting and its resources.
12, What are the causes for growth of deficit financing
13. Mention the effects of deficit financing.

14. Write a note on objectives of Budget.
Section-C (2¥10=30)

Answer Any Three Questions
15. Explain the qualities of 2 good budget
16. Discuss the effects of deficit financing in India.
17. Analyse the importance of compensatory Fiscal Policy,
18. Explain the types of Budget.



GOVERNMENT ARTS AND SCIENCE COLLEGE FOR WOMEN-BARGUR
DEPARTMENT OF COMMERCE
TCYCLE TEST APRIL-2022 ECONOMICS STATISTICAL <11 BA(ECONOMICS)
FANSWER ALL THE QUESTION
Lwhich of the following are type ol correltion?
a) positive and negative b)linear and non leaner ) simple and partial - djall of the above
2.the sign of the correlation is determined by
a) standard deviation  b) covariation between X and Y
A =a4bx i the given lincar equation the intercept term is denoled by a)A b3 ¢)C
dY
4.CoelMicient of correlation lines always between”  a)land +1 b)-land 0 ¢)-1 and +1
S scottar diagram _ a)statistiscal test  b) must be linear feurvilinear ¢) is a graph of X and
Y value
G.maximum value of mnk corrletion coelficient . a) 0 b)+1 )1 djnone of these
7ahe index number for base year oisalways _ a)l000 b)200 ¢)100  d) none of these
S.index number is atype of __ a) Dispersion  b)corr;lation c¢)averape d) none of these
9.the weight used in a quantity index are - a) quantity blvalues clprice djnone of these
10.fishers methoid of calculating the index number is based on the
ajgerometric mean  b)arithmetic mean c)hormonic mean  dnone of these
section =B ANSWER ANT TWO QUESTION (2X5=10)
| Lexplain the various method of index number.vrite a format.
12.from the following data, obtain the two regression equation X : 6 2 10
Y: 911 5
I 3.compute the coefficient ol correlation betwren.
X: 10 12 18 8 13 20 22 15 5 17
Y : 88 90 94 B6 87 92 9¢ 94 B 83
SECTION -C ANSWER ALL THE QUESTION (3X10=30)
14.Compute (i) Laspeyres (ii) paasches (iii) fishers (iv) marshall edgeu.urlh {v) bowley

formula u-fmd'r:t number

Iterm | Base }Lar[pnc:j_ Current year(price) | 0Base In_;g!.r_{quantilg,r} Current year

A & 10 30 _ 50

B 2 2 100 120

C 4 6 &0 6l

D 10 12 30 - 25

15.state the condition and explain the (a) unit ts1 b) circular test ¢} time test  d) time

reversal test e) factor reversal test g

[6.state the difference between the correlution and regression ,?C'L 0 2

1 7.caleulate the two regresstion equation from Ihc following data /ﬁ; o ©

X:10 12 13 12 16 15 —2 @

o

Y @ 40 38 43 45 37 43
FE.from the following data find the pereentage of various in y that is explained by the o
variance in x \l\’
N=I1 EX=117 EY=260 EX2=1313 EY2=6580 EXY=2872
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CYCLE TEST-II { MAY-2022) CLASS: 1l -BA, B.SC
SUBJECT: FOUNDATION ENGLISH - IV

TIME: 2 HOURS MAX.MARKS: 50

SECTION - A (1x10=10)

CHOOSE THE CORRECT ANSWER
1. Garlsby was sitting on the park bench
a searching for his purse b. Thinking about man's life
c.MWaiting for a friend
2. The young man sat in the park because

:1. He forgot his way to the room b. he lost his luggage oD
c. he wanted to enjoy the nature Y
Unscramble the following words ‘%;11““
3. DRPEOSI

4. NYENITRNOMN
5. The eyes of windows described as blind as a personification, since
5, they are broken , so biind -
b. the house is without light
c. nothing can be seen through them as there is darknass inside
6. The nir in grandmaother’s house described as frozen, since
= no one leaves there , even the air does nol seem 1o be moving
b. snakes move there c. no one goes in
7 The snake rested his throat upon the bottom
a. sand. b. stone. c. mossaic
8. The poats voice of education askedhim __ thesnake.
a. to antertain b. to breed. c. to kil
g9 s abletoincite the mob in Julius Ceaser.
a. Antony's speech b. Brutus speech c. Cassius speech
10."14o1 that | loved Ceaser less, but that | loved Romeomore”______ saidthis

a. Arutus b, Antony c.Cassius

SECTION - B (2x5=10)

ANSWLR ANY TWO QUESTIONS
1. Dal..zinterjection with Examples.

2 mamunarize the speech of Brutus.

9. \writ: an email to the manufacturers of your television complaining about the picture

qunily.

SECTION-C  (3x10=30)
ANSW' [ THE FOLLOWING |
1. kaplain the old man's luck in the story dusk .
2 escribe the snake as seen by the poel
% |-law iz Antony as an Orator? Describe
4. “Afhat dives the poet to go back to the grandmother’s house.

A e
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COVERNMENT ARTS ANDSCIENCE COLLEGE FOR WOMEN, BARGUR
DEFARTMENT OF ECOMNOMICS
INTERNATIOMAL ECONOMICS

I- CYULE TEST

CLASS: 1 A BECONOMICS

X

F: i

T

.

10.

I,
8
13
14.

15
i,
7.
8.

_ SECTION - A
ANSWER THE ALL QUESTION (10x1=10}
The balance of payment account is conventionally divided infd ..o (a) capital account (b} cument

sccount and capital account (e} visible and invisible account  [d) long-term and short term capital

Which of the following doesn't foem part of current account under balanee payment -........ (&) expor ond
import service (k) export and import goods (¢} income receipts and payment(d) gapital receipt and
pavment

Which transaction is determine the balance ol trade ......... () export of goods and import of goods (b)
borrowing and lending to and from abread (¢} investment from abroad {d) changing borrowing and lending

by the government )
{a) any currency (b) any currency other than the domestic currency (c)

Forcign exchange means.........-

15 dollar {d) domestic currency

Flexible exchange rate is ... {a) determine {b) order {¢) foreed (d) planned

India's foreign exchange rate system 15 ... {a) fired target of bank (B) managed float {c) fixed (d ) free
flont !

In which agreement flexible exchange system was introduced ..oaa {n) Jamaica agreement (b)Bretton

wood agreement (c) both

Compound duty can be defined as .......... (2} the combinatien of sdvalorum specific duties (b} the
combination of specific and sliding scale (c) both & and b :

Balance of payment is an application of ... {u) the single entry system (b} double entry book keeping
gystem (c) A and B ;

Balance of payment problem is solved by which institutions........... () IMF (b)) Warld Bank {<)WTO (d)
All the above

Section- B (2*5=10)
Answer Any Two Questions
Difference between Balance of Trade and Balance of Payments
\What are the types of Dis-Equilibriums in balance of payment?
Write a short notes on Equilibriums exchange rate.

Difference between flexible and fixed exchange §vstem
Section-C (3*10=30)
Answer any three questions
Explain the measures 1o control the Dis-Equilibriums in the B.O.P.
Wihat are the advantages of flexible exchange system’?
Explain the purchasing power Parity Theory,
Ennmerate the Demand for Supply of Foreign exchange.



GOVERNMENT ARTS AND SCIENCE COLLEGE FOR WOMEN, BARGUR
DEPARTM ENT OF ECONOMICS
PUBLIC FINANCE- 11
11- CYCLE TEST

CLASS: I B.A ECONOMICS

.!4

L

8,
9,

0,

1.
12,
13,

- 14,

36, 1

17,

SECTION - A
ANSWER THE ALL QUESTION [!ﬂxl=l_ﬂ}

The most important source of Income of a government is : 1.5 ,

#) Foreign Loans bj Taxes ¢ Printing of new m:oney d) Sale of government property

Which of the following is not a fiscal instrument .

a) Open Market Operation  b) Tax  ¢) Public Expenditure  d) Public debt

The objective of taxation by the governments are : = .

a)  Raising revenue for the state b) To maintain Etonomic activity ¢) To remove disparities in the
Distribution of income  dy-All the above - ' -

Which article explain finance commission :

4} Aricle 280 b) Article 260 c) Botha and b

Scope of public finance includes ~ bes

a) Public revenue  b) Public debt | ¢) Public Expénditure d) &1l of these

- Corporate income tax is the tax levied on _ :
-a) Corporations - * b} Municipalities ¢) Co-operative Societies dfCompanies

Which of the following is the major source of revenue in India

u} Direct Tax b) Capital levy  ¢) Grands in aid -df Indirect tax
Who is the father of public finance '
AT Dalton h) Pigon ¢)Smith d) Musgrave

- A duty levied on goods under the entering a town .
- ) ' Professional Tax by Octori ) Income Tax  d) Agricultural Tax

Deficit financing as'a tool of fiscal policy was suggested by

a}Keynes  b) Daltan ¢} I.B. Say  d) Marchall

Section- B (2#5=10)

Answer Any Twa uestions
Features of federa| finance ’ ¢ "

E}tplalin Meaning and objectives of fiscal palicy
Functions of logal finance ;
Section-C (3*10=30)

. Answer an hiree i
Functions of finance itimiions three questions

Explain the recommendation of | 3
nstrument of fiscal policy. '

Role of fiseg) palicy in Indian Economy, ¢

finance commisson.
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S.No. 1221 19UEC09

(For the candidates admitted from 2019-2020 onwards)
B.A DEGREE EXAMINATION, DECEMBER 2022.
Fifth Semester
Economics

MACRO ECONOMICS -1

Time : Three hours Maximum : 75 marks

PART A — (15 x 1 = 156 marks)
Answer ALL guestions.
1. Which is not a subject of macroeconomics?
(a) GDP '
(b) National income
(¢) Budget constriants of a firm
(d) . Inflation
6Tl QR GuRwe Gur@GeTTETy LmLb B ?
(=) GDP '
()  Gaélw eumHTand
(@) en ipaagdeda u QL sl @uur@ser
(/F)  LIGATEIES D
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¥

Who is the father of macrocconomics?

(@) Milton Feiedman () Adam Smith
() J. M. Keynes () David Ricardo
Guflwi® Qurgermamyshen Gihend uimi g

(=) WSléden Ofc Cuen (<2p) <L 1b avibls

(@) Cg.emid. Semev () CLafle. MésrrGm

Macroeconomics is the branch of economics that
studies

(@)  Prices of individual goods

(b)  Important, as opposed to trivial, issues
(¢)  The way individual markets work

(d) The economy as a whole

Cuflweée Qu m(h
T &mEUH@Lb

EITSTTD  GTeErLg, Glummemma s &l ehr
(=) setluul L Qunmlsalar ellencusdr

(<) sSwbrer, SiHuwrer, ﬂé;aamaa@jg;@ OTDTs
(&) sefluulL spessdr GlEwdu@in &g

(m) @LpHCwrgs Clummernrgmyin

Supply creates its own demand is the basig of

(a) Classical economics,

(b)  Keynesian economies

(c) Monetarism

(d) Socialism

S.No. 1221 |



Siafliiy  yser Censs Caeeuaw o (meursEHSDS!.
@Elsetr Sigliuen_ue 2 ” .

(1) Ggrenenio Clummerrgmyb
(=) Seevdlwenr Qumrmerngmyib
(@) vemrallwe

()  Cerselleh

In classical theory which of the following is found
in the economy

(a) . Unemployment

(b) Disguised Unemployment
(c) Less than full employment
(d) Full employment

Ggrenenns CGarliumigd Gereumeaaeaupdlas erg
QumpetTsrrsdle sremiuBamng.

() Ceuanauderenio

(=) LDEDOPS Geueneuleirenio

(@) W Ceuamaveumiiienul efl. @Genmeureng
() app Ceuenesumiitiy

How to determine the level of income and
employment in Keynesian theory

(a) Aggregate demand
(b) Aggregate production
(¢) Product value

(d) Market value
3 S.No. 1221
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(@) Qungs Gamal (p) Quomgs opHusdl
(@ swrfliy wHoy () FHa@S W& LI

The concept of effective demand is associated with
the name of

(a) Marshall (b) Keynes
(c) Krugman (d) Say

Lweyeter Goemau  ereip  &@HdS @hs  GUWELen
CammyenLwg

() rrage (<) Seimei
(@) &maGuen () Cg

Psychological law of consumption states that the
value of MPC is lies between zero and

(a) 1

(b) 2
() 3 @ 4
oo Do SBOU umduggnen
ﬁlﬂyﬂmz%uﬂéj R_eTn g &6 GG, B areiliich oS4
(=) 1 i
&) 3 |

(FF) 4



10.

11.

According to Keyn

es the Importar :
. : ant deter

(a) .Rate of interest (b) Saving

(¢) Income (d) Investment
5@@3@ SODULG,  mefesster  apsdwuioren
SoraTmiser

(=) auly efiflgin (=) Caflgsd

(@) sugsLTemDd (™) WwsSH

The slope of the consumption function is called

() MPC (b) MPS

(c) APC (d) APS

EI&TEY (ClFwidbum iy e g6y GTEUGUTMY
<epssuuBéEng

(=) MPC (=4) MPS

@) APC () APS

Saving is a function of

(a) Export (b) Import
(c) Investment (d) Income.
CafliiLy GTemLIgl GTHET FMTY Sh&HD
(1) ghpd (=) @éEod
(@) psdl (FF)  GU(HLDITEILD
S.No. 1221



Ratio of consumption expenditure o any
particular level of mcome

(a) MPS (h  APS
() APC (d)y MPC

EIEE-Q'G:JH@ @I@DLQLL_ Syeelleomen Gu@m”mﬁlﬁgﬂﬁ@m
HiEiey Qameﬂmﬁ@& el &1

() MPS (=) APS
(@ APC (m) MPC

Investment Function depends on
(a) Sizeof firm

{(b) Price of good

(c) Time

(d) Marginal efficiency of capital |
el sniy esl Qurpsss)
(=) flpeergder oenay

(=) poe alene

(@) Cmyn

B S.No. 1221
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14.

15.

16.

Neot investment 1s also known as

(a) Depreciation

) Induced investment

(¢)  Autonomous investment

(d) Capital formation

ey s ereuaum SanpsslLHEDg!.

(=) Gauinrend (<) SremLULL p5e[H
@) senemmidl pedE () LPOF 2 (Heum&&LD

Autonomous Investment 18

(a) Income Inelastic (by Inelastic

(c) Instable (d) Income elastic

saram_§l s ererligl

() eugmrar BaTgenenio @enenio

(<) Bargemenio Gemenio

(@) Heooupos

(F) euepLomen WETHETantD
PART B — (2 x5=10 marks)
Answer any TWO questions.

Explain the various methods of measuring

national income.
Gadlw QU(FLOTETSMS Sienef [HeusHETEN e Geum

(penpse@man GlaTSGS. _
S.No. 1221
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17

18.

14,

20.

21.

(Com

g of the classical theory of

State the qesumption
employment.
CeueneoEumiIiL Lug’]
DI @) LOMENThIGEN TS (&
pare the classical and Keynesian m
income determination. ‘
augporer  Hirarusslen @gramenio WHHILD Seméluiein
wrdflsear @UAHS.

flu  Qgrareniosd QLT g 60T
QS]LJQL.GHED.
odels of

Explain the concept of average propensity to
consume.

mateyssnar  sgnefl  prilwb  updlu SO0
cllend 5.

What are the determinants of investment?
sl an Sonaflé@ih sryeflad wraneu 7

PART C — (5 x 10 = 50 marks)

Answer ALL questions.

(a) Discuss the circular flow of Income in two
sector economy,

Grem® sienn Qun e
_ gop dummernsrysda a
ULL QUL szt uh Gﬂmngéﬁmgm”
Or

&u1é5 &5l et

(b) Explain  the ‘various
computation of national incq

Gﬁéﬂl.u E“(_r_ljl-ﬂrl‘

me,

8



22.

24,

(a)

(b)

(a)

(b)

Explain Keynes's psychological law

Analyse Say’'s law of market.

Geullelr shans ellfenu L@LILMUG] Qs

Or

Describe the Fisher's guantity theory of
money.

Sfaeflar wewr emeys Gemlumien
afleufl&sayb. -

Discuss the eriticisms of Keynesian theory.

Sanflwen Camumgenr eflirsamsemers LHl
eleumdl.

Or

Explain Keynes theory of income and
employment.

QU(HLOTETD  LHmID Geuenaneumiiy  LHHlw
Eeev CamiurlenL efleTéEs.

Describe the various factors influencing
consumption function.

psie GeudurLam L undlégn  uaGap
sryaamarn lleufl&sab.

Or
of

consumption.
Earaflar o araflud HISIT6| elldlamu Gile & &S

g.No. 1221




25,

(b)

of marginal efficiency

Examine the concept

of capital. N -
asasdar @nifloe gper LpMw S(HSPS

LGLUUMie| Cews.

Or

Explain the relationship between marginal
efficiency of capital and marginal efficiency
of investment.

WseSL g 6 @@ﬂﬂmmg ﬁm@h&@m @%L%}U_,

2drer Qsm_franL ef ardsas,

A - A

A
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S.No. 1038 i 21UECO08

(For the candidates admitted from 2021-2022 onwards)
B.A. DEGREE EXAMINATION, NOVEMBER 2023.
Fifth Semester
Kconomics
PUBLIC ECONOMICS -1
Time : Three hours Maximum : 75 marks

PART A — (15 x 1 = 15 marks)
Answer ALL questions.

1. The Principle of Maximum Social Advantage 1S

associated with :
(a) Daltu.n (b) Pigou
(¢) Seligman (d) Hicks

o Foblenews FApSTIL penenlns Clsmearans
o L6t QST TL{enL Gl

(<21) LmedL_et (=2y) Y@
(@) GeadlaGuer (rr)  aubl&av



Seope of public finance 1ncludes:
(a) Public revenue

(b) Public debt

(¢) Public expenditure

(@) All of these

Qung| blef uS e Grr&sin Sleireumeuemeuhenm
o GTaT_&EE mE).

(=) Curg eugmeum | (<) Gurssaen

(@) Qungés Csway (FF) @Eﬁjﬁu. HENETMEFHILD
Public Authorities Include:

(8 Central Government

(b) State Government
(¢) Local Government

(d) All of these

Glumg é{ﬁﬂimﬂmm DL BIGeG) ;
(=) widu ops

=

(a) Compulsory (b) Optional

(¢}  Not compulsory  (g) Nationality

2 S.No. 1038



OO0 b ihd b
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DU I U

U

X

v |

:-'I

tg}{éTﬂ_ILrF]mlﬁbl{ﬂI[f}jm 0 eacthy aunflufent £

s
(<21) & _mung

(mp,) Gl i

(@) S MLD @ dena (i) Codlnn

Che most mmportant source of revenue to the
states 1s

() Sales tax (b)  Service tax

(c)  Execise-duty (d) None of the above
WTbleon & (@nE Wls (& winmen GLI(THELTILI <DY&TITLD
(=) efDuenes euf

(=24) Geeneu qur

(&) GalQurmer curf

(rr) Gl adlug ggulamea

The following is an example of direct taxes:

(a) Sales tax (bY Incnmeltﬂx
(e}  Excise duties (d) Toll tax

Cryig cufls(@nsE Spaam_cupmieT 2 e
(<) eflpuener euf (&) eumHmen euil
(@) QewGurmereufl () smseui

The tax on net income of companies 1s
(a4 Personal income tax

(b) Interest tax

(¢) Wealth tax

(d) Corporation tax

3 . S.No. 1038



fem (hlo ﬁ.i[l_f;lmrm{:f_i}féj}ﬁhl Bgmen @ i)
Al
Qpeua®

(1) .,rE.cmﬂmL_u'r QU(MLDITET auil

lf.ﬂj,ﬁ Qg aull

ﬁ@} ALLEY auitl
Lﬂ",fﬁm:rm;ﬂ guifl

()

Which of the following taxes

abolished? |
(bf)r Estate duty

(a) Interest tax E
(c) Gift tax (d) All the above

Qeneugpd el
sidas 166 QeuluEDg?
(1) euLig aufl

(<) uemeant el _

(@) ufls el

() GuCe 2_6TaT SemandgiLd

igfare withdrawn or

ey ey SpoUU Qupliu@Hms)

The Classical economists asserted that public
expenditure 1s:

(8 Unproductive () Productive

(c) Stagnant (d) All of these
Agmeneno - Qunefine)  euawgyprser @UTEHEDFOEY
arann) euadlw|misgidlemmeni,

i (<) 2 puss

(&) Gand Ay () Gemeu amanggiD
4. S.No. 1038
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10.

11.

12,

i expentiture and
revenue receipls s

(a) Revenue dehent (lr)ll‘ IM18cal deficit

¢y Budget deficit (d)  Primary deficit
ﬁil{lﬁmﬂﬂ1ﬂﬁﬁﬂﬁﬁ}mfﬁﬂi@§i@ﬂﬂ QUHGUMILI (18518 a5
o dram eSS J
() GUEGAIM UDDTEE®D

(=) HHULDDTEG®D

(@) ullgl upprE@GmD

(F)  (pSEEnLD LUDDTEEGED

The difference between total expenditure and total
receipts 1s
(a) Fiscal deficit (b) Budget deficit

(¢) Primarydeficit  (d)”/ Revenue deficit
Qurss CsawasGlh QLTEs aIasERSED 26mar
cillsluimaDd

(=1) HuuppréEGamp

(=) L Gml uHDI&SEMD

(@) qpsearen LHDT&HGMD

(FF)  Gu(meuUml LIDDITEE@EEnD

The Benefit Principle of taxation states that tax
should be paid in proportion to:

(a) Income (b) Expenditure

ey Benefit (d) Utility

g.No. 1038



i4.

- L avei  llmnmeranmuomeremr  qutl o .
F._Irl‘”":h-:l‘ll#lll |‘|1";:|"'-l1| i -"'T.E:rl i |--;|- 1) 1 '1|IF!;'II:I_:'|--_|F|

(B s g 101 el Al i dleh A may
SR - LIL LA e I:-‘?I.,I'l frl'ﬂ-!-'lh'-l.l
) o pan (rr)  eLutswinmin

s the debt which is paid any legal

enforcement.
(a) Voluntary debt  (b}y Compulsory Debht

(¢) Internal debt (d) External debt

- eTEnuUg) &1 H&olaum(m 5L
AwansssneEn Qeguisudib sLaTELD.
(«®) gememnneus sLen (&) SLLMUSG HL_6

(8) eda an () Qouafl scn

Treasury Bills fall under the category of

@) Funded Debt (b) Unfunded Debt
ic)  External Debt (d) Protective Debt

OB 2R E auangullar £pou(mL

(=) Sfuafisaliuc sLan
&) pifdhanrg s e

@) Seusfigel Bé se_an
(™) 2 9UEH6 s cn

6 S.No. 1038
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16.

Tl

L

Dalton has divided debt redemption fund into:

(a) Two parts (h)~ Three parts

(¢} TFour parts (d) Five parts

Lmedem s e L1 Blflenw Slemeugmony Sfsgerarmir.
(=) @ran® ursiisa (=) e uGSss

(&) prang ursmast (7)) @pg LEHsd

PART B — (2 x5 = 10 marks)
Answer any TWO questions out of Five.

What are the similarities between public finance
and private finance?

CQurgHlg wpmb sallwri 54 SpHweunminG GenGu
2_GTET DMIENLDSET WITenay ?

List out the characteristics of tax.

aufluden Gampesnsenets UL ip W[ s.

Distinguish  between forward shifting and
backward shifting of taxation.

sumled gl CGen (penGenmsd) LTl (Hige LDHMILD
QenGammadl( Yyl Qs epduaihamp Caumtiu(Es!s.

5 S.No. 1038



19,

20,

21.

Desecribe

the d-::l}m'l'.nmnl.nl classification of public

expenditure.

SN MG e
i i

G lacanal GuGm I L () )

allauf &,

State the sources of public debt.

Qungé sLallen (P QIBISHEDETE G [T

PART C — (5 x 10 =50 marks)

Answer ALL questions. (Either ‘a’ or ‘b’)

3

(b)

Describe the nature and scope of public

finance.

Clumrg” Bl ullem  @weoyy HmD

urlQuéeaulanar edleul.

Or

Explain the importance of public finance in

an underdeveloped country.
Slengmidlu BT _tg 6 Glumgflduler

@ofluggiagesn uph eflensss.
. - S.No. 1038




| e ]
a3

24.

(2)

(b)

(by” Discuss the factors which deter

'LE_)/

(b)

Discuss the objectives of Laxation

auflellBSlen Grundamis e, UDH 6S e
- L ._J -

Or

Describe the concept of goode and i
' es

tax.
FTHE Lﬂ_r_'rjg]al:n Caeney euitl ull g S(HEen g ;
edaufl. &Y L)
Explain the causes of low leye] of taxation jip
India.
@pglwimreile GLalu] it <Blarellaumen
auflaf Sy &amen &7 G0T Bl &56m QT &l e (g,

Or

: mine taxabhle
capacity.

aufl griuEn Hpenen Bliewrls@in srparflsmen:
upml efleurd sse .

Explain the difference between impact of
taxation and incidence of taxation.
aflggsnée whmn eaufleldi BlenaiiLn@éeb
2_amer Geumiium’enL ellaméss.

Qg & .

Discuss the effects of public expenditure on
production and employment.

2 DL wpmi  CeuenaeumiiLible @U"fﬁlﬁ
Claeall amty & el e cllanereyseT upg
alleung) saayin.,

5 S.No. 1038
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ni |

()

Explain the importance of publie debt.

Gl sl apadliggiaiseans Ll ellen s,

Oy
Describe the various methods of redemption
of public debt.
Qurglds sLaeas FHmbds CQogusgd voGaum
penmaanet afleufl.

10 S.No. 1038
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21UECO03

(For the candidates admitted from 2021-2022 onwards)

Time : Three hours

B.A. DEGREE EXAMINATION, JUNE 2022.
Second Semester
Economics

MICRO ECONOMICS - 11
Maximum ;: 75 marks
PART A — (15 x 1 = 15 marks)

Answer ALL questions.
Wages fund theory was given by

(a) Marshall (b)y J.5.Mill
(c) Walker (d) Ricardo
gl flfls Cariuriyamen Siaflgseur
(<) DTG (<) J.5. 16l
(@) eursa () MAssmirGim

The Quasirent arises when the supply of atleast
one factor input 1s

(a) Fixed in the short run
(b) Fixed in the long run

(c) Variable in the long run
(d) Variable in the short run



Gumall aumyd flani 1L GEnDhHSLCsih e
o puSds sryailufen il L

(<) @mdlu & e dleh mrrmn'maﬂ@.ah@m {Eur@p
(<) B srwgda rprwelmaen Grimg
@) per srasfe wrmyb urps

(M) eoEw sragddad wrmn Cumps

SENILD & (m

Liquidity preference theory of interest is given by
(a) Adam Smith (b) Marshall

(¢) Keynes (d) Malthus
Cyrés eNmuu eul iy Cam L e &1h&H6u T
(<B) YL 1bd cudls (<24) LDTTEED
(@) Eeweiv (FF)  mge

Under perfect competition the demand curve is

(a) Horizontal (b) Vertical

(¢c) Upward sloping (d) Downward sloping
Slenpey Gumiiyuilée Caemea uenarGan® ereiLig
(=) ulhéens

() Cem@sg

(&) Cuo Cprsd Cecaib

(FF) & Crrédl Gladgyp

The Seller under perfect competition is a

(a) Price maker (b) Price taker

(¢) Both (a) and (b) (d) None of these

2 S.No. 1754



fﬂmﬂ}wﬂ {Burrl.'_tq_uﬂ]m AdLeanumreri
el el WL

eTEmLIGUIT
(=) swrilbueur

(<24) egDueum

(@) (=) wHmD () Brenm@ECLw

()  CGupsmblu ergiaydliena

Under perfect competition the number of firms
(a) Isabout 10

(b) Are many but limited

(c) Islarge

(d) Islimited

flenpay Gumiiguiled il mieuemrhisatle eratmmenil&ans
() &HLOWT 10 G

(<)) LIS BhLENTeD GUENTWMISSILIL L eney

(@) Ruilwgl

(FF) cuenpumEsELUL(HleTard)

In the long run, monopoly earns

(a) Normal Profit () Abnormal Profit
(¢) Loss (d) None of these
B sresle sieur§and Cupes!

(i) ETGMTemT @emud

() <DASTSTTET @emuib

@ ped

(F)  Cuopamflu agejblime

9 - §.No. 1754



10.

A market with single seller j
(a) Duopoly

(b) Oligopoly

(c) Perfect Competition
(d) Monopoly

85—

@5 &l huen e menit D BEESBID e mmg.
(=) @mweur appmifeno

(=2) Heorr apmoyMenio

(&) Slenmeayy Gumig.

() sreunSenib

Which one of the following may lead to legal
monopoly?

(a) Product differentiation
(b) Economies of scale of production
() Copy right

(d) Ownership of raw material
SleiTeu(HeueTeuhHmIET eTE F1L | ireu cphmflenndse b8
Gl (&5 5 LD 7

(«21) wehTLstisenear Goumiu (B Smmed
(==) = husd FHéssanrmiser
(&) wvdoyfenn
(rr) s&erd GQummplsafsr o flenn
The Group-equilibrium is a special features of
(a) Oligopoly
(b} Monopolistic competition
(c) Bilateral Monopoly
(ﬂ} Monopoly
4 S.No. 17564
[P.T.0]



13.

14,

Selling cost 18 essential under

(a)  Bilateral monopoly

(b)Y Monopoly

(€)  Perfect competition

(d)  Monopolistic competition

dlpueend Qeaey Qs &) saufwuwrdps
(=) @@euir appmfeno

(<) whpflenn

@) Fepeyy Gumi

() wdnflewd Cumiy

In which situation the firs gets equilibrium?

(a MC=MR (b) MC=AC
() MR=AR (d) MR=AC
h5 Gpdle om fnash sudlaer Qumb?
(<) MC=MR (<) MC=AC
(@ MR=AR (m) MR =AC

Which of the following is selling cost?

(a) Expenditure on packing

(b) Transportation cost

(c) Advertisement expenditure

(d) Wages paid to the workers
Slereumeuarueunia erg eApHLenens Qeavay?
(1) Suub &L e Gsaay

(=) Cursgeurss Qsaey

(@) efletbugsdenr Qeavay

(FF)  2.enpuiuneniig@ euprustiLid saduid



PARTB — (2 x 5 =10 marks)
Answer any TWO questions out of Five,
16.  Elucidate the subsistence theory of wages.
Fnedl upBlu ugmEAtLE Came Mg ener aflems g,
17.  State the various types of markets,
shenguileit LOGeum cuassmeTs Ha ) 5.
18.  What are the evils of discriminating monopoly?
slerawGus srarfasder @mpun@sdr wrees ?
19. State the features of oligopoly.
fleorr wppmfenowlier Gumysamaens Fa )&,

20.  Explain the wastes of Monopolistic Competition.
pomflewt Guriyuiar efqwiiseer eflerdes.

PART C — (5 x 10 = 50 marks)

Answer ALL questions, choosing either (a) or (b).

21. (a) State and explain Ricardo Theory of rent.
fasriGLreller eumpé Carliumgeer saf
efllané @ s.
Or
(b) Critically examine the liquidity preference
theory of interest.
ally updlu Birew Eiug Camium wears
Slpermiis.
22. (a) Discuss the role of time element in the
determination of price.
aflerey fliramugdler sre SbesHer ukiEg DD
afleundl&s.
Or

/ S.No. 1754




(b)—

23. (a)

(O

24, ,Sﬁl

(b)

25. (a)

How if?.lpri{:c determined under perfect
competition?

Hlenmayr Guimiigulilen eitlenay GT GG T
Hliremrulilé e @GElmes. -
Discuss the measures to control monopoly.
@Hpifleanws sl @QUUESHeDaTer  euflsemer
ellleurdlga.

Or

What i1s price discrimination? Explain the
various types of price discrimination.
cllenawiCugid ereimmed eremen? elenaCLssdlen
vaGaun cuanaseaer cllersEs.
Explain the price and output determination
under oligopoly.
Aer apppflewuie el wHmb 2 HUSS
Bliremrwih ubdl ellard@s.

Or

Discuss the various types of oligopoly.
Ao pomflawwer LaGaumy m@ssma
cileurdl&s. |
Explain the long term equilibrium of the
firm under monopolistic competition. |
o Menowimeri Gumriguie Hipieuansslen
anL_sred Fnblaaau cHlens 5.

Or

] does
What are selling cost? How
attain equilibrium with selling costs? | .
Apueans Geweyser Wiraney ? aﬁlmuﬁﬂsgmg
Qeaeal G Hpeuend erear FOH@OED
Qsmea( 6u(HLD.

a firm

—

S.No. 1754
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S.No. 1059 1TUEC09

{For the candidates admitted from 2017-2018 onwards)

B.A. DEGREE EXAMINATION, JANUARY 2022,

Fifth Semester
Economies
MACRO ECONOMICS — [
Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)
Answer ALL questions

All questions carry equal marks.

1.  What is national income? /
GaHlw aumLomemb erspmel ereiran’?

2.  What is meant by circular flow of iunn&?
cugmeLmiSlen eu’ L g1 ih eremLgy wing 7

3. Define — Say's law of market. /
Geulen syismy affuilenan-ausnmumy.

4.  What is velocity of circulation of murie/y?
LenrgSlen Geaus Kpdfl erenpre eremen?

5.  What is meant by effective demand? /
aflenereyeten Cgena eTemmime oreten ?



b |

10,

11.

12,

Define — Aggregate Sy PPly Funetign
Cgme el L& arrrriq-a_:mgru.r :
What is Eﬂnsumpl:inn functipn?
Lisiay emimy STEMDTED erahrgns

What s meant by Average
Consume?

sl Fisiay lm1n STERDTE) aretres
What ig an Investm ent?
©ESR eTempe ereingro
What is marging] efficiency of Mvestment?
0501 1 iy Bpfdama S5 Lmanr STENTE) eraimen?
SECTION B _ (5% 5=05 marks)
Answer AL questions
(a)  Explajn the importanes of macrg ECoNomijcs,

Or

(b)  State the difficulties ip the ealculation of /
nationg] income.,

5m_({ U (TR U T any g Sesdl Dada & vy

HEsimenang S fpy,

(8)  What are the hggje A8SUmptions /of the
classica] theory of employment?

Gmmmml‘mhuu; Qzrenaning Gﬁﬂ'll_r_.uml.h;.ﬁr
THCErarag Wirengy o

O
2 S.No. 1059



13-

14.

15.

(b)

(a)

()

(a)

(h)

(a)

(b)

Write a note on Say's law of market. /’/

i 8 Wil Eah ] @i suanTE.

(EauSien TRl &
thc—l factors determining the

What are
effective demaud!

ol enaTay ST (Gpened
wirrema?

eniLl ;E'Ifrmnﬂ&@.b et

Or

qtate and explain the pre seal importance of
Keynesian theory-

List down the mplications of Keyne's
ps;lfchnlugiﬂal law of consumption-

Eonflean sirelen g ereiiLie o Flullen FrEam s
LIl e GNCLS

Distinguish between /':flducscl and
s-umnﬂ:.m:ms investme nt.

g Q@upp &P
appdBRE® CE
Or
sncept of marginal afficiency of

Sy EsGHpPET

Explain the c
capital.

apepaEHe BofPe=
s(EEE RS E-

3 g.No. 1059



16.

1V,

18.

19.

s

SECTIONC —@3x 10 = 30 marks)

Answer any THREE questions,

Explain the circular flow of

Income in three sector / |
model.
UGN ALL SLLEAD Wwei gop wihh U
e e s,

Critically examine Fisher's equ

ation of exchange, _‘_/"" ?
Heyayflar uflnmhg ELDETUIT ig ap

& Apemmitey Qe

Discuss the general theory of employment as /
propounded by Keyvnes,

Explain the Keynesian Psychological law of /
consumption,

Eerdler maiefien 2 areliliueh e8fuSener eflensgs,

Explain the factors mfluenci t ] /
E-Eﬁciem:}- of capitg]. HORGINE the P

VesasLen s 2
ﬁﬂuhﬁimmuﬁ;%l fiiﬁl]ﬂm i Hrésg

S.No. 1059
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Syt Fpully e - IV
L - 5
(10x1=10)

sRwrar allen_mug GafEESH5S TS

siflipwenn sTHTR SYEOPEEL LD mrst e T
(o)) ussupdms () praguri (G) AosEpd (%) HAsm@SE

Gl L LI TEL) 6T G o 6T By F T RIS S Gl T (BleTar Al

1.

() 38 () 25 (@) 71 (%) 70
L GSLpT UL SPL G ST (P &aRTaTTiq LTS gl g su Bl shpTel T

AwGwryfl

3. uswan

(oy) g Guomyfl () paiBuordl (@) pFgeTd () eovds
e T sraiTgmitp GlETa wremyd Hl&Sna!

(o) e wossraorsi () woshearsiT (@) e (=) G [ 657
L5 F g0 &L sy saurpEHIL UL sy wrenr ubaluis.

(op) Aeusin () Flpord (B) s (v) STpruish
6. FfsFsssle ey Aflwi wri?

() psuTSETTT () APITIIED pusnywssTi (@) srflwrssr (¥) sdlaf
7. menwdig sraiTUGeT GLTHET STERTENT |
(op) 0 (cp) @b ucd (@) @iy () sewlpd
uiflure st ﬂ;igdmp}muﬁ FrihESH -

(o) o0 (g3) ypid (@) Sysouypd (%) DLy
L1 LT 6945 b T o) LT L (plem s e,

Lt Gl s £ pEsaTdE BTG T

() gyAflwiir () Eausur (@) ssfiaur () sughFLUT

10, uFQersin Lpbsemsbs privssfld) ypb Fribs B eTHI?



GOVERNMENT ARTS ANDSUIENCE COLLEGE FOR WOMEN, BARGLUR
DEPARTMENT OF ECOMOMICS
INTERNATIONAL ECONOMICS
- CYCLE TEST

CLASS: | BA ECONOMICS

SECTINN - A
ANSWER THE ALL QUESTION {10x1=10)
vvvens (@) capital pocount (b) current

The balance of payment account is conventionally divided into | .
account and capital account (c) visible and invisible account (d) long-term and short term capital

Which of the following doesn't form pant of current account under balance payment ......... (8} export and
import service (b) export and import goods () income receipts and payment(d) capital receipt and

payment
Which transaction is determing the balance of trade ...... ... (a) export of goods and impart of goods (b)
borrowing and lending to and from abroad (¢) investment from abroad (d) changing borrowing and lending

by the government
Foreign exchange means. ......... {a) any currency (b} any currency other than the domestic currency (c)

LIS dollar (d) domestic curréncy
Flexible exchange rate is ............ (a) determine {b) order (¢) forced (d) planned

India"s foreign exchange rate system is ........ {n) lived target of bank (b} managed Noat (c) fixed (d ) free

Moat

In which agreement flexible exchange system was introduced .. ......... {a) Jamaica agreement (b)Bretion
wood agreement (¢} both

Compound duty can be defined as .......... (a) the combination of advaloram specific duties (b) the

combination of specific and sliding scale (¢} both a and b
Balance of payment is an application of ...... {a) the single entry system (h) double entry book keeping

system (c) A and B
Balance of payment problem is solved by which institutions........... (a) IMF (b) World Bank (c)WTO (d)
All the above

Section- B (2*5=10)

Answer Any Two Questions

11. Difference between Balance of Trade and Balanice f Payments
12, What are the types of Dis-Equilibriums in balance uf payment?

13. Write a short notes on Equilibriums exchange rate.
14. Difference between flexible and fixed exchange svstem

Section-C (3*10=30)
Answer any three questions

15, Explain the measures to control the Dis-Equilibriums in the B.O.P.
16. What are the advantages of flexible exchange system?

17. Explain the purchasing power Parity Theory.
I8. Enumerate the Demand for Supply of Foreign exchange,



GOVERNMENT ARTS AND SCIENGE JOLLEGE FOR WOMEN, BARGUR
DE!‘ABTMEN'F.QFI ECONOMICS
PUBLIC FINANCE- 1I
{1- CYCLE TEST
CLASS:1 B.A ECONOMICS ~
| ' SECTION — A
ANSWER THE ALL QUESTION (10x1=10)

The most important source of Income of a povernment is
‘a) Foreign Loans by Taxes

¢) Printing of new money  d) Sate of government P'TGFE“!I"
2. Which of the following is not a fiscal instrument
o a) Open Market Operation b)) Tax ¢ Public Expenditure  d) Public debt
3.

The ohjective of taxation by the _Eovernments are

a) Raising revenue for the state  b) To maintain Economic attwll.}' ) To remove disparities in the
Distnbution of income  dirAll the above - ¥
4.  Which arlicle explain finance commission

e |
a)  Aricle 280 b} Article 260 c) Bothazandb

3. Bcope of public finance includes © - L
a) Public revenue  b) Public debt | c) Public Expénditure  d) All of these
6., Corporate incomg tax is the tax levied on .
-a)  Corperations . - b) Munil‘;lpnhtlts ¢} Co-operative Societies  dyCompanies
. 7. Which of the following is the major source of revenue in India |
_ u) Direct Tax b) Capital levy  c) Grands in aid .d7 Indirect tax
£, Who is the father of public Gnance
- &) Dalton b)Pigon c)Smith  d) Musgrave
9. . A duty levied on goods under the entering a town
#) Professional Tax by Octor
LN

c) Income Tax  d) Agriculoural Tax
Deficit financing as‘a tool of fiscal policy was suggested by

a) Keynes b} Dalton ¢} LB.Say  d) Marshall

Section- B (2¥5=10)
Answer Any Two Duestions
11. Features of federal finance

12 Explain Meaning and objectives of fiscal palm}-
13, Functions of local finance

El:tlmn—!f: (3% 10=30)
Answe h
- 14. Functions of finance commissions | . ““5" t ree questions

. Explaif the recommendation of I.:!“‘ ﬂnance COMIMiss!on-
.HE- lnstrument of fiscal policy.

I‘.‘ Role of fiscal Tmhv;:r in Indian Economy.
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GOVERNEMENT ARTS AND SECIENCE COLLEGE FOR WOMEN-BARGUR
DEPARTMENT OF COMMERCE
I CYCLE TEST MAY -2022 STATISTICAL FOR ECONOMICS -19USTAlG

CHOOSE THE FOLLOWING CORRET ANSWER
b} n<i0 c)n=30

PART-1

! Large sample theory is applicable when.

#Asiandard error of number of success is given by

(3. Students T-distribution was discoveded by
(4 For testing P! = P2 in a large sample the proper test is

5When a null hypothesis is rejected then its possible that.

made

ft;l"}'::[:ic fluctuation are caused by a) strikes and |
7 Seasonal variation repreat during a period of

ay =30
ajpg/n
ayfusset  bjKarl Pearson

T est

biA coreext decision has been mades

-l - ¥ - g
&% The trend is linear i
owth 15 not constant

5ﬂ’hlch of the following components is used for a short term forecast? a)cy

¢ ) seasonal

A4l Trend refers to a long term tendency

or degrease

PART -1 ANSWER ANY TWO QUESTION  2ZX5=10

ockout
47a) one year b) five year c)seven year

(1x10=10)

bihpg ©) npg

¢)Laplace

b) T test

d) fisher
c) F test

#F A type 1l error has been

b) floods «c) wars d}"n}mc of these

a)the growth rate is constant b) ratte of growth is position  ¢)

d) none of these

11. What are the different components of time series?

«clical Hitrend

to &) decrease only b) increase only eYjeither increase

12.Fit the trend line by the method of semi average 5
Year | 1993 1994 1995 1996 1997 1998 1999 | 2000
profit | 38 39 41 43 40 39 35 25
_13.Calculate 3 year moving average for the following time series :
Year 1983 [1984 [1985 [1986 [1987 | 1988 | 1989 | 1990 | 1991 1992
Production | 21 22 23 25 24 22 25 26 27 26
PART -I11 ANSWER ALL THE QUESTION  3X10=30

14. Explain the methods of seasonal fluctuation of averages.
15-Fit a straight line trend equation to the following data b the methods of least square and

estimates the values of sales for the year 1985.
Year 1979 1980 1981 1932 1983
Sale 100 = 120 140 160 180s
M. Assuming no trend in the series calculate seasonal indices for the following data
Year I Il il IV
1994 78 66 84 80
1995 76 74 82 78
| 996 T2 68 80 70
1997 74 70 84 T4
1998 76 74 86 82
| 7~Calculate 5 yearly moving average of no of students studying in a commerce college as
shown by the following figures:
Year | 1987 | 1988 | 1989 | 1990 | 1991 [ 1992 | 1993 | 1994 ] 19951996 %*°
Noof |332 |311 |357 |392 |402 405 |410 |427 [405 [438 | <.°
students f-ﬂ*""'{;
18 Explain the kinds of hypothesis A g“u'
; < Yy v Loy e 23 Y+
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(For the candidates admitted from 2019-2020 onwards)
B.A DEGREE EXAMINATION, DECEMBER 2022.
Fifth Semester

Economics

MACRO ECONOMICS - 1
Time : Three hours Maximum : 75 marks

PART A — (15 x 1 = 15 marks)
Answer ALL questions.
1. Which is not a subject of macroeconomics?
(a) GDP
(b) National income
(¢c) Budget constriants of a firm

“(d) Inflation
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'-Q B.A. DEGREE EXAMINATION, DECEMBER 2022
Fifth Semester

Economics
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HISTORY OF ECONOMIC THOUGHT

Time : Three hours Maximum ; 75 marks
PART A — (15 x 1 = 15 marks)
Answer ALL the questions.

-~

AL

—
*

provides a broad basis for comparison
of different ideas.

(a) Political thought

(b) Economic thought

(¢) Social thought

(d) None of these
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B A DEGREE EXAMINATION, DECEMBER 2022

Third Semester

Economics

STATISTICAL METHODS FOR ECONOMICS

Time : Three hours

Maximum : 75 marks

PART A — (15 x 1 = 15 marks)

Answer ALL questions.

1. The origin of statistics can be traced to

(a) State

})4 " Economics

(b) Commerce

(d) Industry
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